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I, Write your Roll No. on the top immediately on receipt

ol this question paper,

2. The question paper consists of two parts t.e,, Pavt A
and Part B,

3. Answer any four questions from Part A and any two
questions from Part 13,

4,  Answers may be writton either in English or Hindiy
but the same medium should be used throughout the

paper,
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PART A
AN A

1. (a) Mayur went to a restaurant with 24 rupees for
| . having breakfast He had options to buy Samosa
and Sandw1ch havmg prices of 4 and 6 rupees

respectively. Draw a budget line in this case.

(b) If the price af good x doubles and the price of
good y halves, will the budget line become steeperl

or flatter?
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(c) If all prices double and the income of the consumer
also doubles, will the consumer become better off

or worse off? ‘ R (5,5,5)
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2. (a)lf commodity X is good and y is bad, draw some

indifference curves and also indicate the

preference direction with increasing income of the

consumer.

(b) Show that tangenéy of the Indifference curve with

the budget line is a necessary but not a sufficient

_condition for optimality.

- (¢) 'Explai‘n the four properties of an Indifference

Curve with the help of graphs. 1 (5,5,5)
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(a) Consider a situation where both income tax and
quantity tax on x, generate same revenue for the

government. Which tax will be relatively better

for the consumer? Show using a diagram.

(b) Draw an income offer curve and Engel curve for

good x if both good x and good y are perfect

substitutes.

(c) Create a positive monotonic transformation for any

'y with the help of the

two commodities X. and
(5,5,5)

Indifference curve.
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4. (a) Show 'using a diagram, Slutsky’s decomposition of .
price effect into a substitution effect and Income

effect, if good x is an inferior good.

(b) Explain the concept of ‘value of ihsurance’.

(8,7)
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5. (a) Using a diagram show Certainty equivalent,
expected consumption, risk premium if the

consumer’s expected utility function indicates risk

aversion.

(b) Show using'a diagram that an increase in the
overtime wage definitely increases the supply of

labour. | (10,5
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PART B

HET

6. ~ (a) Define the Productive Inputs Principle. Using
it, discuss the properties of Isoquants anc
families of Isoquants. Use diagrams whereve

required.

A(b) What is meant by Increasing and Decreasin

_ ‘Returns to scale? What are the reasons fc

Increasing and -Decreasing Returns to scale?

(10,2
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7. (a) “The Long-run average cost curve is the lower
envelope of various short-run average cost
curves”. Explain this statement with the help of a

diagram. - -

- (b) Suppose a particular firm »pr‘oduces‘ output using
.}twqﬂ»input.s that are perfectly subStitutable. For
given ‘iﬁpuf prices, how the fi-rm Willr selécf its
‘least cost iﬁput co’mbinétion? .Expléin.using the

| ‘I»so'cost. Line and Isoquant mapi Ndw, if the input
prices decréase then how will the firm select its

new input combination?

(c) What is meant by Economies and Diseconomies

of Scope? EXplain with examplés. | | (5,5,5)

P.T.O.
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8. (a) What is the difference between.avoidable cost

- and sunk cost of a firm?
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(b) Define the Marginal Rate of Technical Substitution

and show how it relates to marginal products.

(c) Define the law of supply for a competitive firm.
How does a change in input price affect the firm’s -

supply curve? Explain

" (d) What is the difference between the demand

function and the inverse demand function?
. (2,3,6,4)
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